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 ZmoQ>  NOTE 

(I) H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _o§ _w{ÐV 
n¥ð> 15 h¢ & 

(I) Please check that this question 

paper contains 15 printed pages. 

(II) àíZ-nÌ _| Xm{hZo hmW H$s Amoa {XE JE H$moS 
>Zå~a H$mo N>mÌ CÎma-nwpñVH$m Ho$ _wI-n¥ð> na 
{bI| & 

(II) Code number given on the right 

hand side of the question paper 

should be written on the title page of 

the answer-book by the candidate. 

(III) H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _|  
>34 àíZ h¢ & 

(III) Please check that this question 

paper contains 34 questions. 

(IV) H¥$n`m àíZ H$m CÎma {bIZm ewê$ H$aZo go 
nhbo, CÎma-nwpñVH$m _| àíZ H$m H«$_m§H$ 
Adí` {bI| &  

(IV) Please write down the Serial Number 

of the question in the answer-book 

before attempting it. 

(V) Bg  àíZ-nÌ  H$mo n‹T>Zo Ho$ {bE 15 {_ZQ >H$m 
g_` {X`m J`m h¡ &  àíZ-nÌ H$m {dVaU 
nydm©• _| 10.15 ~Oo {H$`m OmEJm &   
10.15 ~Oo go 10.30 ~Oo VH$ N>mÌ Ho$db 
àíZ-nÌ H$mo n‹T>|Jo Am¡a Bg Ad{Y Ho$ Xm¡amZ 
do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|Jo & 

(V) 15 minute time has been allotted to 

read this question paper. The 

question paper  will  be  distributed 

at 10.15 a.m. From 10.15 a.m. to 

10.30 a.m., the students will read the 

question paper only and will not 

write any answer on the  

answer-book during this period. 
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gm_mÝ` {ZX}e : 

{ZåZ{b{IV {ZX}em| H$mo ~hþV gmdYmZr go n{‹T>E Am¡a CZH$m g»Vr go nmbZ H$s{OE : 

(i) àíZ-nÌ nm±M IÊS>m| _§o {d^m{OV {H$`m J¶m h¡  H$, I, J, K Ed§ L> & Bg àíZ-nÌ _| 
34 àíZ h¢ & g^r àíZ A{Zdm`© h¢ &  

(ii) IÊS> H$ _| àíZ g§»`m 1 go 17 VH$ A{V bKw-CÎmar` àH$ma Ho$ àíZ h¢, àË`oH$ àíZ  
1 A§H$ H$m h¡ & 

(iii) IÊS> I _| àíZ g§»`m 18 go 24 VH$ bKw-CÎmar` àH$ma-I Ho$ àíZ h¢, àË`oH$ àíZ  
2 A§H$m| H$m h¡ &  

(iv) IÊS> J _| àíZ g§»`m 25 go 29 VH$ bKw-CÎmar` àH$ma-II Ho$ àíZ h¢, àË`oH$ àíZ  
3 A§H$m| H$m h¡ &  

(v) IÊS> K _| àíZ g§»`m 30 go 32 VH$ XrK©-CÎmar` àH$ma-I Ho$ àíZ h¢, àË`oH$ àíZ  
4 A§H$m| H$m h¡ &  

(vi) IÊS> L> _| àíZ g§»`m 33 Ed§ 34 XrK©-CÎmar` àH$ma-II Ho$ àíZ h¢, àË`oH$ àíZ  
6 A§H$m| H$m h¡ &  

(vii) CÎma g§{já VWm q~Xþdma hmoZo Mm{hE &   

(viii) àíZ-nÌ _| g_J« na H$moB© {dH$ën Zht h¡ & VWm{n EH$-EH$ A§H$ dmbo 2 àíZm| _|, Xmo-Xmo 
A§H$ dmbo 2 àíZm| _|, VrZ-VrZ A§H$ dmbo 2 àíZm| _|, Mma-Mma A§H$ dmbo 1 àíZ _| Am¡a 
N>:-N>: A§H$ dmbo 1 àíZ _| Am§V[aH$ {dH$ën {XE JE h¢ & Eogo àíZm| _§o go Ho$db EH$ hr 
{dH$ën H$m CÎma {b{IE & 

(ix) BgHo$ A{V[aº$, Amdí`H$VmZwgma, àË`oH$ IÊS> Am¡a àíZ Ho$ gmW `Wmo{MV {ZX}e {XE JE 
h¢ & 

IÊS> H$ 
[aº$ ñWmZ ^[aE : 

1. ___________ H$m dU©Z EH$ Am{W©H$ gw{dMma Ho$ ê$n _| {H$`m Om gH$Vm h¡, {Ogo EH$ 
ì`mdgm{`H$ CÚ_ Ho$ g¥OZ H$aZo VWm bm^ A{O©V H$aZo Ho$ {bE bmJy {H$`m Om gH$Vm h¡ & 1 

2. a_oe {gbo-{gbmE dñÌm| H$m ì`dgm` H$aZo dmbr EH$ H$ånZr _| {dH«o$Vm Ho$ ê$n _| H$m`© H$a 
ahm h¡ & H$B© AÝ` bm^m| Ho$ A{V[aº$ Cgo < 50,000 _m{gH$ doVZ {_bVm h¡ & dh `h 
H$m`© AnZr Or{dH$m H$_mZo Ho$ {bE, VWm ^m¡{VH$ Ed§ gm_m{OH$ Amdí`H$VmE± nyar H$aZo Ho$ 
{bE H$a ahm h¡ & dh `h H$m`© ß`ma, XoI^mb VWm ñZoh Ho$ {bE Zht H$a ahm h¡ & a_oe 
___________ J{V{d{Y {Zînm{XV H$a ahm h¡ & 1 
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General Instructions : 

Read the following instructions very carefully and strictly follow them : 

(i) This question paper comprises five sections  A, B, C, D and E. There are  

34 questions in the question paper. All questions are compulsory. 

(ii) Section A – Question nos. 1 to 17 are very short-answer type questions, 

carrying 1 mark each. 

(iii) Section B – Question nos. 18 to 24 are short-answer type-I questions, 

carrying 2 marks each.  

(iv) Section C – Question nos. 25 to 29 are short-answer type-II questions, 

carrying 3 marks each.  

(v) Section D – Question nos. 30 to 32 are long-answer type-I questions, 

carrying 4 marks each.  

(vi) Section E – Question nos. 33 and 34 are long-answer type-II questions, 

carrying 6 marks each. 

(vii) Answers should be brief and to the point.  

(viii) There is no overall choice in the question paper. However, an internal 

choice has been provided in two questions of 1 mark, two questions of  

2 marks, two questions of 3 marks, one question of 4 marks and one 

question of 6 marks. You have to attempt only one of the choices in such 

questions. 

(ix) In addition to this, separate instructions are given with each section and 

question, wherever necessary. 

SECTION A 

Fill in the blanks : 

1. ___________ can be described as an economic idea which can be 

implemented to create a business enterprise and earn profits.   1 

2. Ramesh is working as a salesman in a company engaged in the 

marketing of readymade garments. He gets a monthly salary of < 50,000 

besides many other benefits. He is doing this work to earn his living and 

satisfy the materialiastic and social requirements. He is not doing this 

work out of love, care and affection. Ramesh has undertaken 

____________ activity.   1 



 

.98/B 4 

3. _mo{ZH$m VWm _moZrfm EH$ g§JR>Z _| H$m`©aV h¢ Omo Am¡Úmo{JH$ _erZm| H$m {Z_m©Vm h¡ & EH$ 
{XZ Xmonha Ho$ ^moOZ Ho$ g_`, do AnZo g§JR>Z {Og_| do H$m`©aV Wt, Ho$ àH$ma Ho$ ~mao _| 
MMm© H$a ahr Wt & _mo{ZH$m Zo _moZrfm H$mo ~Vm`m {H$ CgH$m g§JR>Z EH$ Eogm g§JR>Z h¡ 
{OgH$m BgHo$ gXñ`m| go {^Þ EH$ ñdV§Ì ApñVËd h¡ & CgZo `h ^r Omo‹S>m {H$ CgH$m g§JR>Z 
H$moB© gXñ`m| Ûmam {H$E JE H$m`m] Ho$ {bE CÎmaXm`r Zht R>ham`m Om gH$Vm & _moZrfm Zo nwZ: 

Omo‹S>m {H$ Bg g§JR>Z H$m g¥OZ H$mZyZ Ûmam {H$`m OmVm h¡ VWm BgH$s n[ag_m{ßV ^r Ho$db 
H$mZyZ Ûmam hr hmo gH$Vr h¡ & _mo{ZH$m VWm _moZrfm __________ àH$ma Ho$ g§JR>Z Ho$ ~mao _| 
MMm© H$a ahr Wt &  1 

4. ___________ {dnUZ H$s Mma nr. (Ps) _| EH$_mÌ Am` CËnÞ H$aZo dmbm VÎd h¡, AÝ` 
bmJV Ho$ Ho$ÝÐ hmoVo h¢ &  1 

5. CÚ_r Ûmam V¡`ma {H$`m J`m EH$ {b{IV àboI {Og_| EH$ Z`m CÚ_ Amaå^ H$aZo Ho$ g^r 
~mø VWm Am§V[aH$ VÎdm| H$m Am¡nMm[aH$ dU©Z hmoVm h¡, __________ H$hbmVm h¡ &  1 

6. {dÎmr` òmoVm| H$mo Am{YŠ` dmbr BH$mB`m| go H$_r dmbr BH$mB`m| _| hñVm§V[aV H$aZo H$s 
^y{_H$m __________ H$mo C{„{IV H$aVr h¡ &  1 

AWdm 

 ___________ AZw_m{ZV amoH$‹S> AÝVdm©h VWm ~{hdm©h Xem©Vm h¡ &   1  

CëboI H$s{OE {H$ {ZåZ{b{IV H$WZ ghr h¢ AWdm µJbV : 
7. Eb.Ho$.nr. E`abmBÝg AnZo àMmbZm| H$m {dñVma H$aZm MmhVr h¡ & amOZr{VH$ H$maH$m| _| 

go EH$ _hÎdnyU© H$maH$ Omo Bgo Ü`mZ _| aIZm hmoJm, dh h¡ {dXoem| _| E`abmBÝg Ho$ CVaZo 
Ho$ A{YH$ma & 1 

8. g^r ì`dgm` `m Vmo ì`dgm` _| {Zdoe H$s JB© _yb am{e H$s dmngr H$s AWdm bm^ H$s 
Jma§Q>r XoVo h¢ &  1 

AWdm 

 gmPoXmar H$s EH$ {deofVm Ho$ ê$n _| nmañn[aH$ EoO|gr C{„{IV H$aVr h¡ {H$ àË`oH$ gmPoXma 
AÝ` gmPoXmam| Ûmam {Zînm{XV H$m`m] Ho$ à{V CÎmaXm`r hmoVm h¡ &   1 

9. A{YH$ma {ZJ©_ H$m AW© h¡, EH$ H$ånZr Ûmam gr{_V g§»`m _| n[aîH¥$V {ZdoeH$m| H$mo àË`j 
ê$n go à{V^y{V`m| H$m {dH«$` &  1 

10. {dVaUdmXr ~mVMrV gm_mÝ` ê$n go H$hbmVr h¡ ‘OrV-OrV’ &  1 

11. Vrd« J{V Cn^moJ dñVw CÚmoJ _| BH$mB© _yë` VWm BH$mB© bmJV _| g§~§Y 80% go 85%  VH$ 
hmo gH$Vm h¡ (bmJV {dH«$` _yë` Ho$ à{VeV Ho$ ê$n _|) & 1 

12. VH$ZrH$ _| CÞ{V Ho$ H$maU _m±J _| ~‹T>moVar H$mo AàMbZ H$hVo h¢ & 1 
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3. Monica and Monisha are working in an organisation that manufactures 

industrial machines. One day during the lunch time, they were 

discussing about the form of the organisation in which they were 

working. Monica described to Monisha the form of her organisation as 

one which has an independent status, different from its members. She 

added that her organisation cannot be held liable for the actions of its 

members. Monisha further added that the organisation is created by law 

and could be liquidated by law only. Monica and Monisha are discussing 

about ___________ form of organisation.       1 

4. __________ is the only revenue generating element among the four Ps of 

marketing, the rest being cost centres.   1 

5. A comprehensively written document prepared by an entrepreneur 

formally describing all the relevant external and internal elements, 

involved in starting a new venture is called __________ . 1  1 

6. The role of transferring financial resources from the surplus units to the 

deficit units is referred to as ___________ .  1 

   OR 

 __________ shows expected inflows and outflows of cash.  1 

State whether the following statements are true or false :  

7. LKP Airlines wants to expand its operations. One of the important 

political factors it should consider is the landing rights of airlines in 

foreign countries.  1 

8. All businesses guarantee for the return of either principal amount 

invested in the business or profit.  1 

   OR 

 Mutual agency as a characteristic of partnership states that each partner 

in liable for the acts performed by the other partners.  1 

9. Rights Issue means direct sale of securities by a company to a limited 

number of sophisticated investors.  1 

10. Distributive negotiations are commonly referred to as ‘win-win’.   1 

11. In Fast Moving Consumer Goods Industry, the relationship between unit 

price and unit cost could be 80% to 85% (Cost as a percentage of selling 

price).     1 

12. Obsolescence is the increase in demand due to advancement in 

technology.    1 
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~hþ{dH$ënr` àíZ : 

13. Q>oZ (TAN) h¡ EH$  1 

(A) 10-A§H$m| H$s Eoë\$m g§»`m (Z§~a) 
(B) 5-A§H$m| H$s g§»`mË_H$ g§»`m (Z§~a) 
(C) 10-A§H$m| H$s Eoë\$m-g§»`mË_H$ g§»`m  
(D) 10-A§H$m| H$s g§»`mË_H$ g§»`m  

14. EH$ {ZOr H$ånZr _| gXñ`m| H$s A{YH$V_ g§»`m hmo gH$Vr h¡  1 

(A) 50 
(B) 100 
(C) 200 
(D) H$moB© gr_m Zht   

15. {ZåZ{b{IV _| go H$m¡Z-gm H$WZ amîQ´>r` H¥${f VWm J«m_rU {dH$mg ~¢H$ Ho$ {bE gË` Zht   
h¡ ? 1  

(A) `h bKw ñVar` CÚmoJm| H$mo ~‹T>mdm XoZo Ho$ {bE G$U àXmZ H$aVm h¡ & 
(B) `h _Ü`_ ñVar` CÚmoJm| H$mo ~‹T>mdm XoZo Ho$ {bE G$U àXmZ H$aVm h¡ & 
(C) `h Hw$Q>ra VWm J«m_rU CÚmoJm| H$mo ~‹T>mdm XoZo Ho$ {bE G$U àXmZ H$aVm h¡ & 
(D) `h hñV{eën VWm AÝ` J«m_rU {eën H$mo ~‹T>mdm XoZo Ho$ {bE G$U àXmZ H$aVm  

h¡ &  

16. {dH«$` {_l Ho$ g_-{dÀN>oX {~ÝXþ H$s JUZm H$aZo Ho$ {bE Hw$N> _mÝ`VmE± ~ZmZr n‹S>Vr h¢ & 
{ZåZ{b{IV _| go H$m¡Z-gr _mÝ`Vm ghr Zht  h¡ ?   1 

(A) à{V BH$mB© {dH«$` _yë`, à{V BH$mB© n[adV©Zr` bmJV VWm Hw$b ñWm`r bmJV 
ñWm`r hmoVo h¢ &  

(B) g^r CËnm{XV BH$mB`m± ~oM Xr JB© h¢ & 
(C) {dH«$` {_l C{MV g_`md{Y _| ~XbVm h¡ & 
(D) g^r bmJVm| H$mo n[adV©Zr` bmJV `m ñWm`r bmJV _| dJuH¥$V {H$`m Om gH$Vm h¡ &  

17. E.~r.gr. àmBdoQ> {b{_Q>oS> ~mah df© VH$ Ho$ Ho$db {deof ê$n go `mo½` ~ƒm| Ho$ {bE M_‹S>o 
Ho$ OyVm| Ho$ {Z_m©Vm h¢ & BgZo EŠg.dmB©.O¡S>. {b{_Q>oS> H$m A{YJ«hU {H$`m Omo g^r Am`w$ 
dJm] Ho$ {bE OyVm| Ho$ {Z_m©Vm h¢ & `h {ZåZ{b{IV _| go {H$g àH$ma H$m A{YJ«hU h¡ ? 1 

(A) _¡ÌrnyU© A{YJ«hU    
(B) CëQ>m A{YJ«hU  
(C) ~¡H$pâbn A{YJ«hU  
(D) eÌwVmnyU© A{YJ«hU  
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Multiple choice questions :    

13. TAN is a :  1  

(A) 10-digit Alpha number  

(B) 5-digit numeric number  

(C) 10-digit Alphanumeric number  

(D) 10-digit numeric number    

14. The maximum number of members in a private company can be 1 

(A) 50 

(B) 100 

(C) 200 

(D) No limit  

15. Which of the following statements is not true for National Bank for 

Agriculture and Rural Development ? 1 

(A) It provides credit for the promotion of Small Scale Industries.  

(B) It provides credit to Medium Scale Industries.   

(C) It provides credit to Cottage and Village Industries. 

(D) It provides credit to Handicrafts and other Rural Crafts.  

16. For the calculation of break-even point for sales mix, certain assumptions 

are to be made. Which of the following assumptions is not correct ? 1 

(A) Sales price per unit, variable cost per unit and total fixed cost are 

constant.  

(B) All units produced are sold. 

(C) The sales mix changes within the relevant time period. 

(D) All costs can be categorised as variable cost or fixed cost.  

17. ABC Private Limited are the manufacturers of leather shoes only for 

specially-abled children up to the age of twelve years. It took over XYZ 

Ltd who are the manufacturers of shoes for all age groups. Which of the 

following types of acquisition is this ? 1 

(A) Friendly acquisition  

(B) Reverse acquisition  

(C) Backflip acquisition  

(D) Hostile acquisition  
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IÊS> I$  

18. O¡Z Zo EH$ bKw ñVar` CÚmoJ ewê$ H$aZo Ho$ {bE AnZr ny±Or Ho$ ê$n _| < 5,00,000 {Zdoe 
{H$E & CgZo  ~¢H$ go < 2,00,000 H$m G$U {b`m & df© _| CgZo < 70,000 H$m {Zdb 

bm^ A{O©V {H$`m & O¡Z H$s ‘{Zdoe na àË`m`’ H$s JUZm H$s{OE & 2 

19. ZdrZ Am±Y« àXoe Ho$ EH$ XÿadVu joÌ _| EH$ _Zmoa§OZ nmH©$ ewê$ H$aZm MmhVm h¡ & `h EH$ 

AË`{YH$ Omo{I_ VWm AË`{YH$ g §^mdZmAm| dmbr Eogr ì`mdgm{`H$ `moOZm h¡ {OgH$m 
à`moJ A^r VH$ {H$gr Zo Zht {H$`m h¡ & BgHo$ {bE, Cgo noeoda `mo½` ì`{º$`m| H$s 

Amdí`H$Vm h¡ & ZdrZ OmZVm h¡ {H$ Bg ì`dgm` _| ~hþV A{YH$ Omo{I_ h¡ Am¡a `h OZVm 

go {Zdoe AmH${f©V Zht H$a nmEJm & CgZo Oo.EM. {b{_Q>oS> go gånH©$ ñWm{nV {H$`m Omo 
Aën_V A§eYmaU Ho$ ~Xbo bKw VWm _Ü`_ {dH$mg-CÝ_wI ì`dgm`m| H$mo g_Vm àXmZ 

H$aVr h¡ &  

 Oo.EM. {b{_Q>oS> Ûmam àXmZ H$s JB© ny±Or Ho$ àH$ma H$s nhMmZ H$s{OE VWm Bg àH$ma H$s 
ny±Or H$s {H$Ýht Xmo {deofVmAm| H$m CëboI H$s{OE &   2 

20. ‘bú` {ZYm©aU’ Ho$ _hÎd Ho$ {H$Ýht Xmo {~ÝXþAm| H$m CëboI H$s{OE &  2 

            AWdm 

 ‘~«mÊS> Zm_’ VWm ‘~«mÊS {M•’ _| A§Va ñnï> H$s{OE & 2 

21. erVb å`y{OH$ BpÊS>`m {b{_Q>oS> Zo EH$ g§JrV aMZm H$m {dH$mg {H$`m h¡ & g§JrV aMZm 
~hþV bmoH${à` hmo JB© h¡ VWm Bgo erVb å`y{OH$b H§$nmoOreZ Ho$ Zm_ go OmZm OmZo bJm & 

`h erVb å`y{OH$ BpÊS>`m {b{_Q>oS H$s _yb aMZm h¡ & Bg aMZm na BZH$m EH$_mÌ {d{YH$ 

~m¡{ÕH$ g§nXm A{YH$ma h¡ & erVb å`y{OH$ BpÊS>`m {b{_Q>oS Ho$ ~m¡{ÕH$ g§nXm A{YH$ma H$s 

nhMmZ H$s{OE VWm AÝ` VrZ ~m¡{ÕH$ g§nXm A{YH$mam| H$s gyMr ~ZmBE &  2  

22. _mohZ qgh n§Om~ Ho$ JwaXmgnwa {Obo Ho$ AnZo Jm±d _| S>o`ar CËnmXm| H$m ì`dgm` Amaå^ 
H$aZm MmhVm h¡ & EH$ {XZ dh Bg {df` _| AnZo {_Ì _ŠIZ qgh go MMm© H$a ahm Wm & 

_ŠIZ qgh Zo Cgo ~Vm`m {H$ ì`dgm` ewê$ H$aZo Ho$ {bE g~go nhbo Cgo EH$ AÀN>r 

ì`mdgm{`H$ `moOZm V¡`ma H$aZr Mm{hE Vm{H$ ^{dî` _| Cgo {H$gr H${R>ZmB© H$m gm_Zm Z 
H$aZm n‹S>o & _mohZ qgh Zo Cgo ì`mdgm{`H$ `moOZm Ho$ _hÎd H$mo g_PmZo H$m AZwamoY  

{H$`m & ì`mdgm{`H$ `moOZm Ho$ _hÎd Ho$ Eogo {H$Ýht Xmo {~ÝXþAm| H$m CëboI H$s{OE Omo 

_ŠIZ qgh Zo _mohZ qgh H$mo g_PmE hm|Jo &    2 
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SECTION B 

18. Jain invested < 5,00,000 as his capital to start a small scale enterprise. 

He took a loan of < 2,00,000 from the bank. During the year he earned a 

net profit of < 70,000. Calculate Jain’s ‘Return on Investment’.      2 

19. Naveen wants to start an amusement park in a remote area of Andhra 

Pradesh. This is a highly potential and high risk business plan that has 

not been tried by anybody so far. For this, he requires professionally 

qualified persons. Naveen knows that the business has high risk and may 

not attract investments from public. He approached J.H. Ltd. that 

provides equity to small and medium growth-oriented businesses in 

return for minority shareholding. 

 Identify the type of capital being provided by J.H. Ltd. and state any two 

features of such type of capital. 2 

20. State any two points of importance of ‘goal setting’.  2 

 OR 

 Distinguish between a ‘brand name’ and a ‘brand mark’.     2 

21. Sheetal Music India Ltd. has developed a musical composition. The 

musical composition has become very popular and is known as Sheetal 

Musical Composition. It is an original composition of Sheetal Music India 

Ltd. They have legally recognised exclusive intellectual property rights 

over the composition. Identify the intellectual property right of Sheetal 

Music India Ltd. and list three other intellectual property rights.  2 

22. Mohan Singh wants to start a dairy products business in his village in 

Gurdaspur district of Punjab. One day he was discussing this with his 

friend Makhan Singh. Makhan Singh told him that to start a business, 

first, he should prepare a good business plan so that he may not face any 

problem in the future. Mohan Singh requested him to explain the 

importance of a business plan. State any two points of importance that 

Makhan Singh might have explained to Mohan Singh.      2 
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23. Q>moZr \$b VWm gpãµO`m± ~oMZo H$m WmoH$ ì`dgm` H$a ahm h¡ & CgH$s XþH$mZ EH$ ñWmZr` 
WmoH$ ~mµOma _| h¡ & {nN>bo df© CgH$s {~H«$s < 6 bmI Wr & {Z`_m| Ho$ AZwgma Cgo AnZo 
g^r ì`mdgm{`H$ boZXoZm| _| EH$ Xg A§H$m| dmbr Eoë\$m g§»`mË_H$ g§»`m CÕ¥V H$aZr hmoVr 
h¡ & `h A§H$ ‘‘ì`{º$’’ Ho$ g^r boZXoZm| H$mo Cg {d^mJ Ho$ gmW Omo‹S>Zo Ho$ `mo½` ~ZmVm h¡ Omo 
`h A§H$ Omar H$aVm h¡ &  

 Bg A§H$ H$s nhMmZ H$s{OE VWm Eogo Xmo ‘‘ì`{º$`m|’’ H$mo C{„{IV H$s{OE {OZHo$ nmg `h 
A§H$ hmoZm Amdí`H$ h¡ & 2 

24. ‘g_ñ`m nhMmZ’ Ho$ {H$Ýht Mma Cn`moJm| H$s gyMr ~ZmBE &  2 

              AWdm 
 n`m©daUr` Om±M Ho$ {bE gyMZm EH${ÌV H$aZo Ho$ {H$Ýht Mma òmoVm| H$s gyMr ~ZmBE & 2 

IÊS> J$  

25. EŠg {b{_Q>oS> Zo EH$ Eogo A{ÛVr` Q>obr{dµOZ goQ> H$m {dH$mg {H$`m h¡ {Og_| H$åß`yQ>a H$s 
{deofVmE± h¢ VWm Bgo EH$ _mo~mBb µ\$moZ Ûmam Ka Ho$ ~mha go {Z §̀{ÌV {H$`m Om gH$Vm h¡ & 
Bg A{ÛVr` Q>obr{dµOZ Ho$ {dH$mg Ho$ {bE H$m\$s AZwg§YmZ {H$`m J`m Wm & H$ånZr Zo 
Q>obr{dµOZ H$m _yë` Bg àH$ma {ZYm©[aV {H$`m {H$ `h H$_ {dH«$` go g_-{dÀN>oX {~ÝXþ na 
nhþ±M OmE VWm {Zdoe Ed§ AZwg§YmZ bmJV H$s dgybr gabVm go H$a nmE & erK« J¥hrVmAm|, 
{OZH$s _yë` Ho$ ~mao _| H$_ g§doXZerbVm h¡, H$mo Ü`mZ _| aIH$a _yë` {ZYm©aU {H$`m J`m  
h¡ &  

 EŠg {b{_Q>oS> Ûmam Cn`moJ H$s JB© _yë` {ZYm©aU {d{Y H$s nhMmZ H$s{OE VWm BgHo$ {H$Ýht 
Xmo bm^m| H$m CëboI H$s{OE &    3 

26. _{hÝÐm ñQ>mog© nm°da ~¢H$ H$s dm{f©H$ 4000 BH$mB`m| H$s {~H«$s H$aVm h¡ & CËnmX H$s _m±J 
g_mZ h¡ & à{V nm°da ~¢H$ H$s H«$` bmJV < 400 h¡ & à{V df© YmaU bmJV H«$` bmJV H$s 
10% h¡ & AmXoe bmJV < 200 à{V AmXoe h¡ & 

 _{hÝÐm ñQ>mog© Ho$ {bE nm°da ~¢H$ H$s Am{W©H$ AmXoe _mÌm H$s JUZm H$s{OE &     3 

27. (a) ‘{dÎm’ H$m Š`m AW© h¡ ? 
(b) Eogo Xmo _w»` òmoVm| H$s lo{U`m| H$s gyMr ~ZmBE {OgHo$ Ûmam EH$ CÚ_ Amdí`H$ 

H$mof EH${ÌV H$a gH$Vm h¡ &  
(c) Eogo {H$Ýht Mma CÔoí`m| H$m CëboI H$s{OE {OZHo$ {bE {dÎm H$s Amdí`H$Vm hmoVr 

h¡ &  3 
AWdm 

(a) ^maVr` à{V^y{V Ed§ {d{Z_` ~moS>© H$mo H$~ d¡Ym{ZH$ A{YH$ma {XE JE ?   
(b) ^maVr` à{V^y{V Ed§ {d{Z_` ~moS>© H$s ñWmnZm H$m Š`m CÔoí` Wm ?  
(c) ^maVr` à{V^y{V Ed§ {d{Z_` ~moS>© Ho$ {H$Ýht Mma A{YH$mam| H$m CëboI H$s{OE &  3 
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23. Tony is carrying on a wholesale business of selling fruits and vegetables. 
His shop is in a local wholesale market. His turnover in the previous year 

was < 6 lakh. As per rules, be has to quote a ten digit alphanumeric 
number in all his business transactions. This number enables linking all 

transactions of the ‘‘person’’ with the department which issues this 

number.  
 Identify the number and state any two ‘‘persons’’ who must have this 

number.    2 

24. List any four uses of ‘problem identification.’  2 

                     OR 

 List any four sources of collection of information for environmental  

scanning.   2 

SECTION C 

25. X Ltd. has developed a unique television set that has the features of a 

computer and can be controlled from outside the home using a mobile 

phone. A lot of research was done for the development of this unique 

television. The company has fixed the price of the television in such a 

way that it can reach break-even with fewer sales and could recover the 

cost of investment and research easily. The price has been fixed keeping 

in mind the early adopters who have relatively lower price sensitivity. 

 Identify the pricing method used by X Ltd. and state its any two 

advantages.   3 

26. Mahindra Stores sells 4000 units of power banks annually. Demand for 

the product is uniform. Purchase cost per power bank is < 400. Holding 

cost per annum is 10% of the purchase cost. Ordering cost is < 200 per 

order. 

 Calculate the Economic Ordering Quantity for Mahindra Stores for the 

power banks.  3 

27. (a) What is meant by ‘finance’ ?  

(b) List the two major categories of sources from which an enterprise 

can raise the required funds.  

(c) State any four purposes for which finance is required.  3 

OR 

(a) When was Securities and Exchange Board of India given statutory 

powers ? 

(b) What was the purpose of establishing Securities and Exchange 

Board of India ? 

(c) State any four powers of Securities and Exchange Board of India.  3 
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28. AmB©.AmB©.Q>r. JwdmhmQ>r go AnZm ~r-Q>¡H$ nyam H$aZo Ho$ níMmV² ho_§V Zo _mBH«$mo{Mn H$m 
CËnmXZ H$aZo dmbo EH$ CÚ_ H$s ñWmnZm H$aZo H$m {ZU©` {b`m Š`m|{H$ CgHo$ nmg BgHo$ 
{bE Amdí`H$ kmZ d {deofkVm Wr & CnH«$_ H$s ì`dhm`©Vm H$mo {ZpíMV H$aZo Ho$ {bE 
CgZo EH$ ì`mdgm{`H$ `moOZm ~ZmZo H$m {ZU©` {b`m & CgZo EH$ n[aM`mË_H$ dU©Z V¡`ma 
{H$`m VWm EH$ bú` H$WZ {bIm {Og_| CgZo CÚ_ Ho$ AmH$ma, joÌ VWm àH¥${V H$m dU©Z  
{H$`m & ì`mdgm{`H$ `moOZm Ho$ Xÿgao KQ>H$ _| Am¡a Š`m MMm© H$aZo H$s Amdí`H$Vm h¡ ? 

{H$Ýht N>: H$m CëboI H$s{OE &    3 

29. g¥OZmË_H$Vm H$mo n[a^m{fV H$s{OE & g¥OZmË_H$Vm H$s à{H«$`m Ho$ MaUm| H$mo g_PmBE &  3 

                    AWdm 

 EH$ EH$b ñdm_r H$s {H$Ýht N>: {deofVmAm| H$mo g_PmBE &  3 

 

IÊS> K 

30. CËnmX EŠg, dmB© VWm µO¡S Ho$ {dH«$` {_l go g§~§{YV {ZåZ{b{IV gyMZm go g_-{dÀN>oX 

{~ÝXþ H$s JUZm BH$mB`m| _| H$s{OE :   4 

{ddaU EŠg dmB©> µO¡S>> 

à{V BH$mB© {dH«$` _yë` 
< 

30 42 72 

à{V BH$mB© n[adV©Zerb 
bmJV < 18 14 19 

% {dH«$` {_l 60% 15% 25% 

 Hw$b ñWm`r bmJV < 2,46,500 h¡ &   

31. \«|$MmBµO AZw~§Y Ho$ _w»` Ad`dm| H$mo g_PmBE &   4 

         AWdm 

 AnZo CËnmXm| d godmAm| _| gwYma Ho$ {bE EH$ ì`dgm` Ûmam Cn`moJ _| bmE OmZo dmbo 

{d{^Þ àH$ma Ho$ d{Y©V _yë`m| H$mo g_PmBE &   4 

32. CZ VarH$m| H$m dU©Z H$s{OE {OZHo$ Ûmam CÚ_r àd¥{Îm`m| (Q´>|S²>g>) H$s nhMmZ H$aVo h¢ &   4 
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28.  Hemant, after completing his B-Tech from IIT Guwahati, decided to set 

up an enterprise to manufacture microchips as he had the required 

knowledge and expertise for the same. To determine the viability of the 

venture, he decided to prepare a business plan. He prepared an 

introductory profile and wrote the mission statement describing the size, 

scope, and nature of the enterprise. What else needs to be mentioned in 

the second component of the business plan ? State any six.  3 

29.  Define creativity. Explain the steps in the process of creativity.           3 

                   OR 

 Explain any six characteristics of a sole proprietor.  3 

 

SECTION D 

30.  From the following information related to sales mix of products X, Y and 

Z, calculate breakeven point in units : 4 

Particulars X Y Z 

Sale Price Per 

Unit < 
30 42 72 

Variable Cost 

Per Unit < 
18 14 19 

Sales Mix 

Percentage 
60% 15% 25% 

 Total fixed cost is < 2,46,500.  

31. Explain the main ingredients of a franchise agreement.  4 

                                     OR 

 Explain the different types of added value that a business can employ to 

improve its products and services. 4 

32. Describe the ways in which entrepreneurs spot trends.   4 
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IÊS> L> 

33. O~ EH$ CËnmXH$ {H$gr {dVaU _mÜ`_ H$m M`Z H$aVm h¡, Vmo Cgo Eogo H$maH$m| H$mo Ü`mZ _| 
aIZm Mm{hE Omo CËnmX H$s JwUdVm VWm àH¥${V go g§~§{YV h¢ & Eogo {H$Ýht Mma H$maH$m| H$mo 
g_PmBE &    6  

34. ì`dgm` H$s {H$Ýht N>: Amdí`H$ {deofVmAm| H$mo g_PmBE &       6 

AWdm 

 {dÎmr` {Z`moOZ Ho$ {H$Ýht Mma KQ>H$m| H$mo g_PmBE &   6 
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SECTION E 

33. When a manufacturer selects some channel of distribution, he should 

take care of factors which are related to the quality and nature of the  

product ? Explain any four such factors.  6 

34.  Explain any six essential characteristics of business.   6 

OR 

 Explain any four components of a financial plan.  6 

 

 

 

 


